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Question Number : 1 Question Id : 3354727131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which ore armong the following popular sportspersons does not hail from Madhya Pradesh? | Fafei@T s
ﬁaﬁﬁﬁﬁaﬂqmmﬁnﬁ&rﬁﬂé%?

Options:
1. % Aslam Sher Khan | &0 §F 94

2 % Narendra Hirwani [ =g geamir
3. % sandhya Agarwal | HeET STHETA
4 ¥ Kirti Azad | HF G

Question Number : 2 Question Id : 3354727132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

103rd Session of the Indian Science Congress was held in
T 4

Options:

1. # Bhopal | \iTe
2 % Ranchi | T=IT

% % Tirupati | Heni
4 ¥ Mysore | BT

Question Number : 3 Question Id : 3354727133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the third Vice-President of India? | 9T & 34 149 JWEAE ® 1= 2407

Options:

1. % Dr. Zakir Husain | 2T 17 g4

2. ¥ Varahagiri Venkata Giri | SRTgITRT dare T
3. % BD. Jatti | sTETFST

4. % Gopal Swarup Pathalk | T €0 qT&6F

Question Number : 4 Question Id : 3354727134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘National Tourism Day’ is celebrated in India on ________ of every vear. | T H 57 @1 TP tied o
T AT AT 21

Options:
1. % 25th January| 25 J9aer
2. % Gth January | & S
% % 13th January | 13 =it

4. % gth January | 8 S

Question Number : 5 Question Id : 3354727135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Recenﬂ% the first ever Air Marshall of the Indian Air Force passed away. What was his name? | 5Td a1 H, 9N 19
T AT & Uget Uo7 HTEe @ (e 51 T JeT 20T 19 217

Options:
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1. % Arjan Singh | a9 Hg
2. % Satwant Singh | 9949 g
% % Rajveer Singh | T g
4, % Amar Singh | e &E

Question Number : 6 Question Id : 3354727136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following teams won the Pro Kabaddi League (PKL) tournament in 20167 | frafafes # & frg
ST 2016 ® ot Fegl wi AT SAtaT?

Options:

1. % UMurba | J GaT

2. ¥ Patna Pirates | U1 TEgd

% % Dabang Delhi | Zam gl

4. % Jaipur Pink Panthers | STogy e fomf

Question Number : 7 Question Id : 3354727137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Under whose chairmanship was the first Ieeting of Indian MNational Congress held in Bormbay inl8385Y | 1855

R reaT 3 AT T T Y ool S ST 7 g ot
Options:

1. % Womesh Chandra Eanerjes | 0 =g @a=1

2. % Dadabhai Naoroji | SIEraTE A

3. % A0 Hume | T3TgH

4. % Badruddin Tvabji | 9S54 a1

Question Number : 8 Question Id : 3354727138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
::fll'rmi(:h of the following is the proposed capital of Andhra Pradesh? | THgiRiEa § & Sl 0da &l Tea iad (a1 @i

Options:

1. ¥ Vijayvawada | feezamaT
= % Armaravati | ST
3. ® Tirupathi | @&

4 % Kurnool | 3-a

Question Number : 9 Question Id : 3354727139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
NELM stands for: | NELM @7 arf &

Options:

1. ¥ MNational Resources Liberalisation Mission | T 6T e BT

2. % National Reconstruction and Litigation Mission | Y8R QAATT ST GhaHerr T
3. % National Reorganisation and Legal Mission | TP gATIa- 7 #HT e

4. % MNational Rural Livelihood Mission [ T8 TTHIT S=c@T i
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Question Number : 10 Question Id : 3354727140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Gadadhar Chattopadhyay was the original name of: | TET‘E]TEI@EIT‘EWWH\ETWE]T:

Options:

1. ® 5ri Aurcbindo | 4t eRfdwg (aRfdwg O

2 % Sywami Vivekananda | TTH1 [dd@ g

%, ¥ Ramakrishna Paramahamsa | TTHE A
4. % Paramahamsa Yogananda | WHRT AN

Question Number : 11 Question Id : 3354727141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Eonark ternple is situated in the state of

Options:

1. % Cdisha | 32T

= % Kerala | od

3. ® Madhva Pradesh | FeT0aT
4. % indhra Pradesh | T 02

Question Number : 12 Question Id : 3354727142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which one of the following places is the Meghdoot Garden (Upvan) located? | THairiea # & e €I ot degd
TEA (F0a) 78T 87

Options:

1. % Indore | 22K

2. % Dindori | =N
3. % Mandu | AE

4 % Gualior | TaTEaT

Question Number : 13 Question Id : 3354727143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In which district is the Mada rock cut caves situated? | Tore et § W1ar I @ TE0 2T 87

Options:

1. % Hoshangabad | STsmTemeg
2. % Jabalpur | S&EgY

3. *® Sagar | 9

4. ¥ Singrauli | TR

Question Number : 14 Question Id : 3354727144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who was the first Vice-President of India to becorme the President of India? | g8 & 19 g YR & 70 J0-
gt 4 3 ag, # g aey

Options:

1. % 5 Radhakrishnan | 09 @0

2. % K R MNaravanan | & 3T =0
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3. % Abdul Kalam | SfEgd @
4 % Pranab Mukherjee | oo gaE=i

Question Number : 15 Question Id : 3354727145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where in Madhya Pradesh is the Narmada Herbal Park located? | We[@ e § FHcT galel U1 HET 60T g7

Options:

1. ¥ Jabalpur | SEFEqC

2. % Narsinghpur | S0HEgT
=, ¥ Hoshangabad | ST
4. % Raisen | TEA

Question Number : 16 Question Id : 3354727146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The _______ is situated in Dewas. | _______ am # T a1
Options:

1. % Bank Training Centre | <& W& &g

2 % Bank Farmer Institute | s B demT

3. ¥ Currency Printing Press | Tl GeW 4
4 % Newsprint Paper Mill | = Ut #a

Question Number : 17 Question Id : 3354727147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Narme the river that touches the northern part of Badwani district. | 39 94 & A9 ad15< AT aSaT-1 Fe & S am

T T

Options:

1. ¥ Narmada | F8g7
2 % Tapti [9TqdT

% % Betwa | &aar

4. % Choral | TR

Question Number : 18 Question Id : 3354727148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The first state in India to have a separate department for happiness is: | ¥R | WA = Fad wagar & oy o
ST TETT

Options:
1. # Chattisgarh | F=@Tg
2. # Rajasthan | TFe

3. ® Tripura | By
4. ¥ Madhya Pradesh | Teawaar

Question Number : 19 Question Id : 3354727149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The first dalit president of Indiais _________ .| VITT T Ugall afed e a
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Options:
1. % BD. Jatti | s 21 Aqdr
2. ¥ K. R. Naravanan | @ . TR0
3 % VY. Giri | 1 e
4. % Ram Nath Kovind | ¥ 919 #iidg

Question Number : 20 Question Id : 3354727150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which state is the Taj Mahal located? | T Aga fFd =0 | 79T 27

Options:

1. % Delhi | TErdl
2. % Harvana | gixamom

2. ¥ Uttar Pradesh | Z9¢ U&ar

4. ¥ Bihar | Y
Zeneral Maths and General Aptitude

Section Id : 335472219
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472219
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354727151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Aand Brun arace at 15 km/h and 18 km/h, respectively. [f & takes 20 ml:nutes more thaln E to cowver the
distance, then the distance ran equals to: | UF &2 H 4 ST E FAA 15 Trdl/=er & 18 fordt/ weT § Sied 31 91 gor aa
w7 4, B 9 20 TiHe Sfded oidT 3, Ta SIST T8 O 36 s 5

Options:

1. % 20km
Z % 20k
3. % 15km
4. % 40 kamn

| 20 T
| 30 TFHT
| 15 TerdT
| 40 TFHT

Question Number : 22 Question Id : 3354727152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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How many subsets containing 3 different numbers can be selected from the set {223, 3?5, ZEE, 292, 3497,
466} s0 that their surn is even? | @9g4 {223, 275, 266, 292, 397, 466} & Tra- = Ty aeamsit a Ivagg™ &1
T Tor T AT waaT & e TR ST Aied a1 5l

Options:
1.%1
Z % B
3. %9
4. % 10

Question Number : 23 Question Id : 3354727153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
4

Options:

b | =

12
4. v 2

Question Number : 24 Question Id : 3354727154 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
(0.27)2—(0.23)2=?
Options:

1. % 0.002

z %0z

3. % 00002
4. % 002

Question Number : 25 Question Id : 3354727155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Find the average. | sf|g e

18, 88, 12, 35, 22
Options:
1. % 32
o % 33
3 % 34
4 9 35

Question Number : 26 Question Id : 3354727156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
£Ais equal to: / £A SHd SRI€EX %L:

Options:
a0e

-

1 &

400

30°

Question Number : 27 Question Id : 3354727157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the remainder when 85563 is divided by 47 | 85563 T 4 & 31T e U0 S9E F47 SHT17
Options:

1. %1

2 %0

3 %2

4 v 3
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Question Number : 28 Question Id : 3354727158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 92 % 16 =1472, then the value of 0092 % 0.04x 0.041i5____ [ AE92x 16 =1472, T 0.092 x 0.04 % 0.04 &

Options:

1. % 000001472
2. % 0001472
3. ¥ 00001472
4 % 001472

Question Number : 29 Question Id : 3354727159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the value of %2 - 6x + 4 when x =

= Z9/x2- 5x+4$rm?rwmaax—:—:?
Options:
1. % -3
2 % -5
3. %5
4 ¥z

Question Number : 30 Question Id : 3354727160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In an exam, each correct answer is worth 4 marks and for each wrong answer the student loses 1 mark. There
are 75 questions in the exam and a student answers all of therr. Which one of the following marks, the studernt
cannot score? | UF TelyT H, e |t 3a¢ @1 4 a7 ﬁuﬂwmmmﬁaﬁwmw%m% tr?raTﬁgm?S
e ¥ ot Fereedf 5 et o wow 2T R R A A ETE'EFE-F:I'T el w5t @ g

Options:

1.9 278
2. % 275
3% 225

4 ® 25

Question Number : 31 Question Id : 3354727161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The dwvergage of 9 numbers is 75, When thE‘j.F are puat in iﬂICI‘EElSiI'lg order, the ayeragge of the first & numbers is
60 and the last five is 90, What is the middle terrm? | 9 Gegmsit BT &6 75 B Fel Ivg agd #H H #4147 5, 91 70
S weEpTalt T afted 60 3T 230 o= &7 90 $1a7 81 7 Ug a4 &7

Options:
1. % g5

2. % 80
3. ¥ 75
4 % 70

Question Number : 32 Question Id : 3354727162 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

If & completes a job in 12 days and E in 24 days, then both together will complete the job in how many days?
| AT & U T w12 At f oW E 24 et f quf wwar g, aﬁaﬁﬁqurﬁaﬁﬁmﬁ%’fﬁ@a#ﬁ?

Options:
1. % 10

2.¥3
3. %7
4 % g

Question Number : 33 Question Id : 3354727163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 3 is less than 10% from v and v is 10% more than 125, then x is equal to: | Tigx, v 10% FAE, Td v, 1259
10% 21T 2, 97 x 56 aileal o

Options:

1. % 150

Z % 143

3. % 14055
4 ¥ 12275

Question Number : 34 Question Id : 3354727164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

After 6 vears, Pradhan’s age will be %times the age of his father. Ten vears ago, the respective

ratio of the ages of Pradhan and his father was 1:5. What is the present age of Pradhan’s father?/

6 AT @TE, TN ST Y 30 AT f g & 2 e gei 10 a¥ gge, were AR
39% faar &1 3y &1 §afed 3gad 105 onl vae & far & adAe 3y F=T 62

Options:
1. % 40 vears | 40 a9
2. ¥ S0 vears | S0 Ty
% ® Sgvears | 5699
4, % g0 vears | 60 a9

Question Number : 35 Question Id : 3354727165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which of the following has a raticnal square root rational means fractional i.e., of the form p/q where p and q

are integers and q is not zero)? | ™49 & & forad wicda avige 57 (icH arria gens @i [ pjq F e dsgip &t g
qurter § S q 4 et &)

Options:
1. % 04

2. ¥ 009
3.% 186
4, % 0,025

Question Number : 36 Question Id : 3354727166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
What is the area of a square whose side is dx Cri? | UF @1 &7 JT6d T & ! 997 4x S0 27

Options:

16x2 sg.cm /[ 16x2 aat dr
1. ¢

2. % Zxsq.cm | Sxodi JHT

8x? sq.em / 8x? aat &

z ®
4 ® 18x cm | 16x AT

Question Number : 37 Question Id : 3354727167 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which is NOT a quadrilateral? | S0 & ®19 &7 0% I 751 7
Options:

1. ® Trapezium | TA«d

2 ¥ Pentagon | T

3. ¥ Parallelograrm | TWEE T

4. % Rectangle | T

Question Number : 38 Question Id : 3354727168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Question Number : 39 Question Id : 3354727169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following property is used in the given equation? | == Ty Ty SH # 99 § & #1997 1M 7w
BT E?

Bix+5)=5x+40
Options:

1. % Agsociative property | gz Torem
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2. % Cormrmutative property | FHITTHI TOTEH
3. ¥ Identity property | SaeddT TomeR
4« Distributive property | =i ToTeH

Question Number : 40 Question Id : 3354727170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The difference between Kavva and Ken is 2 vears. [f Kavya is 1] 4th of Krishna's age and Ken is 1/5th of
Krishna’'s age. What is Ken's age? | FTeam 3% 3 & A & sl 2 oY @7 SIT7 21 Aie, FTA1, FO0T & A F 1/4 5 A7
T, T T ST T 1S 7, T T AT T4 57

Options:

1. % gwears | 6 a0

2 ® Fyears | 7y

= ¥ Svyears | 5 a0

4, % 9years | 9 av

General Hindi

Section Id : 335472220
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472220
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ATT 3 ST F-H T F ____ wgd Bl
Options:

1. % 7@

o % e

3. % TR

4, \Tigeg

Question Number : 42 Question Id : 3354727172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T W IR 51aT 3]
Options:
1. % i
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= W Tt
S % §mT
4 ® ariwEy

Question Number : 43 Question Id : 3354727173 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TRATIE® o 91T eg & -
Options:

1. ¥ gy

2 ® 0z
3. % g
4 % gy

Question Number : 44 Question Id : 3354727174 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
M i el 5 -
Options:

1.9

2. % a1
3 %W

4 %

Question Number : 45 Question Id : 3354727175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
o i e A S e e GIEETCE

Options:

1. v ==
2 %
3. % et
4. ® wam

Question Number : 46 Question Id : 3354727176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“FIET W AR w T | ae

Options:
1. %9
2 % &\
3% 9w
4 ¥ qT

Question Number : 47 Question Id : 3354727177 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“ForgehT JUAT T BT & o U gee FE E A ar g

Options:
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1. % guyig
> % gmET

3. ¢ aruEa

4. # A

Question Number : 48 Question Id : 3354727178 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“grieer 1 @ g M g i arg?
Options:

1. % gg+ T

2 % gg 4y

3 % gg 4Ty

4 ¥ g+ T

Question Number : 49 Question Id : 3354727179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

AT FT AW e g A E R AT Y
Options:

1. % e

2. ¥ TR

3 ® TRt

4 ® Taa

Question Number : 50 Question Id : 3354727180 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T I0ET F 74T Ael FEH @ # e

Options:

1. ¥ mam
2. % gire
3 % g
4. % gl

Question Number : 51 Question Id : 3354727181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
WA deg § g § @ 6 aAn 27

Options:

1. % fgyaum

2. % g aEe
3. ¥ ToEY 9A

4. % ity gumg

Question Number : 52 Question Id : 3354727182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘T T 1 BT el wT e FE A E em arg?
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Options:
1. 0% o @A
2. % Higg & Fgar
3. % g oA W]
4, % ZTAM & AT FEAT

Question Number : 53 Question Id : 3354727183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘TUET BT g T 9 W H @7
Options:

1. % gmeg

o % gaig

z. ¥ gda

4 ® g

Question Number : 54 Question Id : 3354727184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SRET T T T ATe STH B 87
Options:

1. Taer

2 %

3. ® Frar
4. %

Question Number : 55 Question Id : 3354727185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

aﬁ‘aﬁﬁﬁﬂ%w;ﬂﬁg%
I8 A d Bel8 |

H I AT w51 Fal g i-u?

Options:

1. % 3T aFwr
=V g9 aEw

3. % TOF AR

4 ® IOw SEET

Question Number : 56 Question Id : 3354727186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o 0 geg o7 AR el 0 @ e s 8 § - ara
Options:

1. % g & S T4 & W 75dt a8

2. % ST T Aqrefe g T 51 H S J57 8

3.  grad ofit graTge snfy ot i g At aeqd
4. % gH ST & SIHERE BTG BCAT )
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Question Number : 57 Question Id : 3354727187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘T O ST §E AT 5H U eg H T4 BRI

Options:

1. % gammr

o % T

3. ¥ et

4 % et

Question Number : 58 Question Id : 3354727188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SAATERETT 1 AT ATl T Fgd & -
Options:

1. % ST & AT

= R o fHane
3. % e
4 R oo e

Question Number : 59 Question Id : 3354727189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TTATE T Ui aa=T g A5l 5 -
Options:

1. % &\7

2 ® wa

3. ¥ T

4. % yugpy

Question Number : 60 Question Id : 3354727190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g IEIGIG EI:-TE‘H‘I?FF—iaHE EREEN

Options:

1. s & adiT

2. % 3T W O T

3. ® AT

4, % e oW adiT

Fural Economy and Fanchayati Eaj

Section Id : 335472221
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472221
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
How manv Janpad Panchayats are there in Madhya Pradesh? | #eg ndsr # a1 902 = 27

Options:

1. % 300-350
2. % 401-450
3. % 451-500
4, % 501-550

Question Number : 62 Question Id : 3354727192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the Panchayat Raj systern, Agriculture, Social Forestry & Ermergency Relief comes under the functions of

e A s G e e e e e e 1) s ) e R -1 o WA o ST STTAT gl

Options:
1. % Central Government | &g e
2. ¥ Janpad Fanchayat | F=0g T=T
% % Gram Panchavat | 70 T=mad

4. % Zila Panchavat | FaT f=me

Question Number : 63 Question Id : 3354727193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is the primary objective of Primary Agricultural Credit Societies? | WEAL Wiiwrid #1E¢ AETEe = (HTITHE
P FOT FIHTS) FT W 90 747 57

Options:

1. # To train in agriculture methods | &Y wgal # wi&fET e

2. % Todevelop high quality seeds | 35 T0TemT @6t sl ol ad HeT
= ¥ To provide rural credit | TTHIT F00T IEH F4

4 % Tohelp marketing the product | IqOTal & O # HEAT W H1

Question Number : 64 Question Id : 3354727194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the objective of Madhvya Pradesh Seed Certification Agency? | FeT W2 S WA TA6T &7 F47 J549 57

Options:

1. ® Importing high quality seeds | 32 0T o6l s ST @1

2. % Doing research in seeds | =1 & o= # arrer g

3. ¥ To make available high quality seeds | 35 T0TERIT aTel S IUFe FTHT

4 % Exporting high quality seeds | 3g T0TE0T aTe & Wid weT

22nd Decl7 Shift 1



22nd Decl17 Shift 1

Question Number : 65 Question Id : 3354727195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which among the follo is NOT included under National Food Security Mission at present? | FRaa /&
ﬁrﬁaﬁwﬁﬁw&g (XTE 127 T2 {4 § Amiie =g 1 T ma 87

Options:

1. % Rice | gmaa

2 ¥ Eggs | a2

= % Wheat | T
4. % pulses | T

Question Number : 66 Question Id : 3354727196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MNABARD was established in .| FATETE W T

Options:

1. # Fourth Plan | =it Tr==m
2. % Fifth Flan | Tl TR
= ¥ Sixth Plan | &7 =1

4. % Eighth Flan | &t ==r

Question Number : 67 Question Id : 3354727197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Sukanya Samriddhi Yojanaisa ______ | T T AT O ______ Ed

Options:

1. ¥ Srall Deposit Scherme for the Girl Child | STesrsi @ 6l o7g ST DT
2. % Girl Child Mutrition Scheme | aTieraart @ @0 w0 =T

3. ® Wormen's Sports Scherme | ARAT SF I

4 % Scherne to Eradicate Child Marriages | =Td TeaTg S+0A T

Question Number : 68 Question Id : 3354727198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The PElHChEl ati REl_] institutions in India are established as Per the Constitutional directions of the . III
TRT H Y T e & ___ & HrelTi-E L 9 S FTiT T T )
Options:

1. % Directive Principles | T2 g
2. % Fundamental Rights | T e
3. * Preamble | WEdTeHT
4 # Federalism | 994

Question Number : 69 Question Id : 3354727199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Wth %ear was the R1ght to Informatmn Act implernentation started all over India? | &0t ¥R # o ad &
&I T 2777

Optlons.
1. ® 2002
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2. % 2003
3. % 2004
4. % 2005

Question Number : 70 Question Id : 3354727200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The average agriculture growth rate in Madhya Pradesh for the five year period from 2010-2015 was a
phenomenal _______ % a3 against an all India growth rate of 4% | 2010-2015 & U&= a9 &7 2@ & W Fegnea o
i Fie o 2 4% AT IR Eea e __ % ol

Options:

1. % 10-11%

2 % 11-12%

3% 12-13%

4. ¥ 13-14%

Question Number : 71 Question Id : 3354727201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

where in Madhya Pradesh is School of Rural Managerment located? | Wed Wl # Tel S{Th o HeetHe (TTHITT Here
Frel) Tl U g7

Options:

1. % vidisha | Tafeam

= % Sagar | AT

3. ¥ Ratlam | Y9dH

4 ® Rewa | T

Question Number : 72 Question Id : 3354727202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the basic unit for conducting agriculture census in our Country? | §AN 247 § F0 FATET ST F &

ToT FTd gorTE T 27

Options:

1. # Export of foodgrains | @memg! @ i

2« Cperational landholding | TETa-TcHE g T

2. % Name and addresses of all farmers | &4t foma=t & 90 T ud

4 % Total agricultural production of the country | S5 %1 Fdl FIT Jeqe-

Question Number : 73 Question Id : 3354727203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which color tag is used for seeds certified by accredited agencies in India? | AXT § AFITT 010 T=at & wHT0T
At o o Temey sty 27 a7 U= TeRT AT 27

Options:

1. % Green | g1
= % Red | @
3. ¥ Elue | S@T
4. % Yellow | dfeT
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Question Number : 74 Question Id : 3354727204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Interest Subwvention Scherme is being implementad by

Options:

1. ¥ NABARD & REI | 912 3T ARalamg
2. % Zilla Panchayat | T /=T

Z. % Finance Department | &

4. ¥ Revenue Department | TFd ST

Question Number : 75 Question Id : 3354727205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which of the following is NOT a road block for implementation of financial inclusion in many rural areas? |

ST TTHTOT & H Tty efade & fopameaee # TomtetfaT # & a7 amem 51 87
Options:

1. % Illiteracy | Teerar

2 % Low income savings | sied @

3. % Lack of bank branches | <& Jmarsi @& anE

4. ¥ Banking Correspondents | S8 daearar

Question Number : 76 Question Id : 3354727206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ATMA in agriculture sector stands for © | T g7 0 ueigny FAiAEs & F0 09w g7 2

Options:

1. ¥ Agriculture Technology Monitoring Authority | THHet SF AT AT T SFITET
2. % Agriculture Terminology Mission Authority | U@ STHATATT 5 ST

3. ¥ Agriculture Technology Managernent Agency | TH@eeR ciamT BaHe garer

4, % apgriculture Teaching and Management Agency | Tiideot T UE BHe T=HT

Question Number : 77 Question Id : 3354727207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Deen Daval Upadhyay Gram Jyot Yog_réa replaces which of the following erstwhile schemes 7 | 29 41
TUTETH TTH =i d T = "a T T Wi .

Options:

1. # Integrated Rural Development Programme | ECEE #d Saade T

2 ¥ Rajiv Gandhi Grameen Vidyutikaran Yojana | Trita e o ey fmeor ai=mr

3. ® Sampoorna Grarm Rozgar Yojana | Sl U TR AT

4. % Deen Dayal Upadhyay Gramin Kaushal Yojana | Si9 Sa7a SUTEATT TTHIT &6 TR1

Question Number : 78 Question Id : 3354727208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which cormrmittee at Centre considers the proposals received frorm State Governrments under Pradhan Mantri

Gram Sadak Yojana ? | WTHAST TR S IM471 & /7T (o G & TH Weqal 0T dieg, § &1 9f FHel 57
Options:
1. ¥ Rural Roads Committee | TTHIT A2 FHeT

22nd Decl7 Shift 1



22nd Decl17 Shift 1

2. % Gram Sadak Samithi | TH A= TiHT
2. % Central Comumittes | e g
4. ¢ Empowered Cormmmittes | 995 FHaT

Question Number : 79 Question Id : 3354727209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Wwhat is the fee g']c-::s be paid for registration for work under MGNREGS? | AT & S/71d @19 o ol U= o fely
YT T e T T

Options:

1. % RBs 20| 20 90

2 % Rs 10 1030

3. % ps 5w
4 ¥ No fee | ®18 g7 51

Question Number : 80 Question Id : 3354727210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the rmaximum unit cost prescribed for Corrrmun 1& Sanitary Corrplex at rural areas under Swachh

Eharat Mission-Gramin ? | g 9Rd He=-THI & 957 gt o T Taewar iR o fong Frerier sriéeay g
CIUGRETE

Options:

1. % Rs. Slakhs | 5 &1 &7
2. % Rs. Zlakhs | 3 @G &0
3. ¥ Rs. Zlakhs | 2 @9 &0
4 % Rs. 1lakhs | 1 @9 &00

Cormnputer Knowledge

Section Id : 335472222

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472222
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ______ key is used to type capital letters using the Alphabet keys of a keyboard. | _____ T T T O
IS DI AIGR Prat (FBTee P BT TEATHH FCd U a2 ST4R 150 P o Toi forarm ST 21

Options:
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1. ¥ Caps Lock | 30 &1

2 % Backspace | s@gud

3. ® Delete | 126lT

4. % Cursor Control | 6T #eid

Question Number : 82 Question Id : 3354727212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
DMS stands for: | DNS &7 qof #7571 2

Options:

1. ¥ Domain Network Server | SHT ST 99

2. ¥ Domain Narme Systern | S04 7 Beea

Z. % Domain Naming Software | ZHT S THT @iFedaw

4 % Dornain Narming Standard | SH9 ST 9422

Question Number : 83 Question Id : 3354727213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Servers process request from clients connected to a: | FATES @ AR T Tt 0T e tad 2T Rl 8

Options:
1. ® Device | Zaredg
2 % MNetwork | Seddr

3 % Systern | FreEH
4 % Supercomputer | REFIIET

Question Number : 84 Question Id : 3354727214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Intranetisa_______ BT T 31

Options:

1. % LAN | &9

2. ¥ Network within a group Or Organization | 7% TUg I7 978 & ey Joad
3 ® WAN |29

4 % MAMN | BT

Question Number : 85 Question Id : 3354727215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which of the following mermory loses data when the cormputer is switched off? | T # & ®19 €t #HT, F0gmad ¢
T ATE g1 I 2 RT E}f%_cﬁ 27

Options:

1. % Read Only Memory | ¥Z =61 AAT

2 Random Access Memory | 120 UFad oo

3. % USE Flash drive memory | J09a! T S5 HART
4 % Cornpact Disc Memory | ®THIE 2% RN

Question Number : 86 Question Id : 3354727216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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What is a collection of worksheets called as? | e derafel & TIE @1 47 Fgl AGT 57
Options:

1. % Excel Library | U dlgail

2 % Excel Data | TFHA ST

3. % Excel Range | Udad
4. ¥ Workbook | Te®

Question Number : 87 Question Id : 3354727217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

%ich of t%lge following is a correct representation of a cell in M5 Excel? | THUS Uade §, 79 § € %19 91 U, 97 57

Options:

1. % A@15
2 % Al
3. % Af1S
4 ¥ 415

Question Number : 88 Question Id : 3354727218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Google Chrome falls under: | TT# #1779 @ @iy amar

Options:
1. % Browser | 347

2. % [P Address | aEHT USE
3. % Compiler | #FHUTEAT
4 % Cperating Systern | ST e

Question Number : 89 Question Id : 3354727219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which q%rflg? of the following is NOT a computer prografuing language? | 0T § & ®19 € T Sy W

Options:

1. % sQL

2 % OJAVA
3. ¥ MS-FFT
4 % CH+

Question Number : 90 Question Id : 3354727220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a font style? | FHT # § 737 U%F TR &1 EHE GC5d 11 o7

Options:
1. % Bold | 4 5]

2 ® Italics | gefeigd

3. % Regular | W
4 ¥ Sarthrt | ARG
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Question Number : 91 Question Id : 3354727221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

By default, on which page the header or the footer is printed in a Word docurment? | UF 92 STggHc §, 2T &1
o T U7 UF 22T AT ek T T A 87

Options:

1. ® On first page | TEA U T

2. % On alternate page | Teece U= 00

3. ¥ Cn every page | Wad® U W

4 % None of the above | IWigd § & F1E 51

Question Number : 92 Question Id : 3354727222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1024 GE is equivalent to: | 1024 Sl 707 & sTer g7 &:

Options:

1. ¥ 1TE
2 % 1GE
3. % 1FE

4. % 1ME

Question Number : 93 Question Id : 3354727223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is used to write web pages? | oe O Torg & fon o & & Fraerr i fmm =mar 27

Options:

1. % URL

= ¥ HTML
3. % HTIP
4. % FTF

Question Number : 94 Question Id : 3354727224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Transistors is made up of __________ | TR & & Eid )

Options:

1. # capacitors | T (T

2. ¥ semiconductor | GHGEH (SREHT0E)
3 ¥ resister | YTEwET (METT®)

4 % conductors | FEged (FTEH)

Question Number : 95 Question Id : 3354727225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& collection of 8 bit is called_____ JERTEUEEE ________ HEATIT Bl

Options:
1. ® nibble | EIELEIEI

Z ¥ Dyte | AEC
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2. % double-word | Zad-92
4 ® yord | T2

Question Number : 96 Question Id : 3354727226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In M5 Word 2007, find, replace, and select options are available in the ______ group. | TAOE 92 2007 § FES,
Teqete, & ot feemem ______ 0 H IUAG gl
Options:

1. ® Clipboard | o=z
2. % Alignment | TATEAHE
3. % Styles | WETEAT
4.+ Editing | Ui

Question Number : 97 Question Id : 3354727227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who developed Yahoo? | aTg e fereriae e 2m7

Options:

1.IO ' David Filo and Jerry Yang | 2T Tt Ua =i 7m

2 % Steve Case and Jeff Bezos | 9E1d &d Td S sI1e

= % vint cerf and Robert Kahn | THe o 09 918 #g

4 % Dennis Ritchie and Ken Thompson | 2 fe=ft o @ aTagas

Question Number : 98 Question Id : 3354727228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_______ keystroke is used to go to the end of the M5 Word 2007 docurnent. |
T2 2007 STHgHT & ST § I o fo T =mar g

Options:

1. % Ctrl + Home
2. % Ctrl + End
3 % Top

4. % Escape

Question Number : 99 Question Id : 3354727229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

All of the following are examples of real security and privacy risks, except for: | A # 6 sigee 97 Tt e e
LT AT T T ATEHT & ISR &,

Options:

1. ® Hackers | §%¢

2 ¥ Spam | 909

3. * Viruses | g

4. % Identity theft | sMEaieer dFe

Question Number : 100 Question Id : 3354727230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Ar alphanurmeric cormbination like “A5”" in Excel would mean a: | UFad § “AS" 3 TR g g @7 arf e

BT

Options:

1. ¥ Workbook address | dde® U249
2. % worksheet address | F@de 129
3. ¥ Cell address | @9 024

4. % File name | T & 910
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